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General Instructions :

Read the following instructions carefully and follow them :

(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

61/7/1

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.
Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.
Section C — questions number 28 to 30 are Long Answer (LA) type questions.

Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — questions number 31 to 33 are Source-based questions having
three sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

The presence of granaries at Harappan sites most likely implies which of
the following about their agricultural practices ?

(A)  Surplus Production (B) Plantation Farming

(C)  Shifting Cultivation (D) Nomadic Lifestyle

Which of the following statement is correct about the Shungas and

Kanvas ?

(A) The Shungas supported Buddhism and the Kanvas supported
Hinduism.

(B) The Shungas and the Kanvas were the immediate successors of the
Mauryas.

(C)  The Shungas and the Kanvas ruled after the Gupta rulers.

(D) The Shungas succeeded the Mauryas and the Kanvas succeeded
the Gupta rulers.
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3. Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :

Assertion (A) : Shahjehan Begum was a patron of art and architecture in

the 19th century, known for her contribution for Sanchi’s
preservation.

Reason (R): Sanchi Stupa is a classical example of early Buddhist
architecture.

Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

4. Look at the image given below and identify the historical artefact :

(A)  Ashoka’s Lion Capital (B)  Guptas’ Lion Capital
(C)  Shungas’ Lion Capital (D)  Cholas’ Lion Capital
61/7/1 Page 5 of 27 P.T.O.

&




XX B KX
qie ; FEfIRad Yo7 Fad gisarfea ahieriefa & g ¥ 6. 4 F T WE |

HTI o IMTEAHTA H E7F] HETHIC] i ATt | § shia-eft siftrent oft 2
(A) & ANEE R R

(B)  ni @l = faeram

(C)  g¥ < Tgidl i Fgra &

(D) SATUR 3T TV BT TG AT

[ N e N e

5. fafafgd o & -8 Y 9= ara & feshi s adie 9o Fd 8 2
I TS i 9 o s 3UT id | Sam9es ST 3l 391id € |
1. <feqor Yia | 9= e frereh Emre & T STaR o6t Hohd < © |
III. 3= e SR ST foR T difr o fremhi  Seh! 3TTeeR Tffarfer oX Srehrer

STeAT |
IV. =i 7o RMmeehi G0 ST fohT 1 =Tt o ferehi = SATR skl Giorerrsiieh ST |
e :

(A LIIIMWIVEDE|
(B) IL III 3 IV @& 2 |
(C) LIIRIVTE|
(D) I, 13RI & & |

6.  fau forhedi # @ Sferd wrse & feara T o6t gfd hiferg :

S ER H ST S IASIH Rl 5 o R et e € |
(A)  od

(B) w4

(C) =H

(D)  feE

61/7/1 Page 6 of 27

&




X e KX

Note : The following question is for Visually Impaired Candidates only, in lieu of
Q. no. 4.

Which of the following was the role of the Dhamma Mahamattas during
Ashoka’s reign ?

(A)  To oversee military operations
(B) To administer justice to people
(C)  To promote the principles of Dhamma

(D) To manage trade and commerce

5. Which of the following statements accurately describes the coinage of
ancient India ?

I Ancient Parthian gold coins showed extensive trade in north India.
II. Ancient Roman coins in South India indicated trade beyond borders.

I1I. Ancient Yaudheyas issued copper coins that highlighted their
economic activity.

IV. Ancient Gupta rulers issued silver coins that facilitated trade.

Options:

(A) I, II and IV are correct.

(B) II, III and IV are correct.

(C) I, III and IV are correct.

(D) I, II and III are correct.

6. Fill in the blank with the appropriate word from the given options.
In Jaina philosophy, the cycle of birth and rebirth is influenced by .

(A) Dharma
(B) Moksha
(C) Karma
(D) Ahimsa
61/7/1 Page 7 of 27 P.T.O.
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(A)  TTEREHA
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forerea

(A)  a-i, b-iii, cii, d-iv
(B)  a-ii, b-ii, c-i, d-iv
(C)  a-iv, bAii, c-i, d-ii
(D) a-iii, b-iv, c-ii, d-i
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Identify the ancient ruler of India with the help of following information

and choose the correct option :

e Was the best known ruler of the Satavahana dynasty.
e C(laimed to be a unique Brahmana.

e Was the son of Rishi Vashistha.

Options :

(A) Bhaskaravarman

(B) Rudradaman

(C)  Gotami-puta Siri-Satakani
(D)  Vikramaditya II

Match the following Column I with Column II and choose the correct

option :
Column I Column I1
(Traveller) (Country)
a. Afanasii Nikitin i.  Spain
b. Duarte Barbosa ii. Turkey

c. Antonio Monserrate iii. Portugal
d. Seydi Ali Reis iv. Russia
Options:

(A)  a-i, b-iii, c-ii, d-iv

(B)  a-ii, b-iii, c-i, d-iv

(C)  a-iv, b-iii, c-i, d-ii

(D) a-iii, b-iv, c-ii, d-i
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(D)  FBET % Jaid
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(D) UShIT SR & &d
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10.

11.

12.

61/7/1

&

Which of the following pairs is correctly matched ?

(A)
(B)
(C)
(D)

X e KX

(Sufi)

Shaikh Muinuddin Sijzi

Khwaja Qutbuddin Bakhtiyar Kaki
Shaikh Nizamuddin Auliya

Shaikh Nasiruddin Chiragh-i-Dehli

(Region)
Agra
Delhi
Ajmer

Jaipur

Which of the following temple’s priest provided memories that were

crucial for the initial survey of Hampi ?

(A)
(B)
(®)
(D)

The Virupaksha Temple
The Brihadiswara Temple
The Vitthala Temple

The Hazara Rama Temple

Which of the following features of ‘Mulk Abadi’ of Ain-i-Akbari helps
historians to understand the administrative structure of the Mughal

Karl Marx’s concept of ‘Asiatic mode of production’ depicted rural society

Empire ?

(A)  Poetic descriptions

(B)  Fiscal records

(C)  Architectural designs

(D)  Traveller’s accounts

Fill in the blank :

as

(A) Constantly evolving

(B)  Socio-economic disparities
(C) Egalitarian

(D) Independent from Imperial Court
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15.

16.

61/7/1

&

X EE X
ST S T o feora =i Het i s o wRf Aewl | 2
(A) 3% YRA % G99 U8 G % §F H STHT 1T 7 |
(B) o ATl | diet SRefor o Rma i fafed id € |
(C)  3ehT fAmioT Uiga STEeht 1 TRIaT & foram T |
(D) I ER % R fohedl o &9 H F13 d o |

TR | o we # FrefarRad § & -1 SiteT wet gafera & 2

(52T (Hew)
A. ST F GodH hI WS 3FCIferg <97 =hT JEATA
B. HTTCATYEH shl SATOHT — TSI T A o TH 9 AT SR ST
C. dTelhIeT 1 I — ST EFd o e
D. oo R ® 9aq — Oohsil o1 8 FRET SeET

TSI TS H e sialerea’ hl 3TUET ATt SHaeer’ shi It yreifirehar < 2
(A) TSRS GUE ! O s o fag

(B)  fashesiopa frimor & & forg

(C) 9 TSIET sl sgM & fo7u

(D) ST o |TfoRIeRToT o oI

frafafega o @ -ar foeey yda U stidien @ wefta weAred &1 wt
FIATTSh(H ShH SRIAT S 2

I feda oS asad
II. S RE § e SR
I[I. <FIT GeiE

IV. Sifciare ST gcmehis

feree

A IILIV,L1II
B) LOLLILIV
(C©) ILIV,ILI
(b) ILILIV,I

Page 12 of 27




X e KX

13. Why are Chola temples at places like Thanjavur significant in ancient
history ?

(A)  They are known as the very first temples in India.

(B) They mark the peak of Chola patronage in architecture.
(C)  They were constructed with the help of the Pandya rulers.
(D) They served as forts during festivals.

14. Which of the following pairs is correctly matched regarding the
Vijayanagara empire ?

(Events) (Significance)
(A) Defeat of Sultan of Bijapur
(B) Founding of Nagalapuram

Start of Aravidu dynasty

Township named after King’s mother
(C) Battle of Talikota — Expansion of Hampi over Orissa

(D) Decline of Vijayanagara — Increased military control of Mackenzie

15. Why did the British prefer the ‘Ryotwari system’ in Bombay over the
‘Permanent Settlement’ ?

(A)  For simplifying revenue collection
(B)  For bringing decentralized control
(C)  For maximising their revenue

(D)  For empowering the zamindars

16. Which of the following options shows the correct chronological order of
events related to Indian National Movement ?

L Second Round Table Conference
II. Peasant Movement in Bardoli
III. Champaran Satyagraha

IV. Jallianwala Bagh Massacre
Options:

A LIV, II

(B) I LI,IV

(C©) IHIOLIV,ILI

(b)y IHOLI,IV,I
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18.

19.

20.

21.
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1850 & T3 o SR 3T hi ‘ST BT shl FEI” 7 gl ST o 2 F=fafga o8
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(B) Sk (A) 3R R0 (R) IH1 @&l &, W R0 (R), SA0haT (A) I
HE ST 7T HLT © |

(C)  HABTERIT (A) T &, T R (R) 710 2 |
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17. Why was Awadh referred to as the ‘Nursery of the Bengal Army’ during
the 1850s ? Choose the correct option from the following.
(A)  Known for strong resistance to British rule
(B) Major recruiting ground for the Bengal Army
(C)  Centre for British military training
(D) Base for British military leaders

18. Which of the following pairs of Committees and their Presidents is correct
regarding the Constituent Assembly ?

(Committees of (Presidents)
Constituent Assembly)
(A) Flag Committee — Bhimrao Ambedkar
(B)  Steering Committee — Jawaharlal Nehru
(C)  Advisory Committee — Sardar Vallabhbhai Patel
(D)  States Committee — J.B. Kripalani

19. On whose advice did Gandhiji spend a year travelling around British
India upon his return in 1915 ?

(A) Bal Gangadhar Tilak (B) Lala Lajpat Rai
© Gopal Krishna Gokhale (D) Bipin Chandra Pal

20. Choose the correct option from the following to fill in the blank regarding
the leaders of the Revolt of 1857.

Arrah (Bihar) : Kunwar Singh,; : Birjis Qadr
(A) Awadh (B) Kanpur
(C)  Gwalior (D) Lucknow

21. Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :

Assertion (A) : The American Civil War created a panic in the cotton
circles in Britain.

Reason (R): American cotton supplies had dropped drastically which
increased the demand for Indian cotton.

Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
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26.

27.
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SECTION B
(Short-Answer Type Questions) 6x3=18

(a) How did different types of marriages reflect the social systems of
ancient India during the Mahabharata Period ? Explain with

examples. 3

OR

(b) How did familial relations impact the social systems of India

during the Mahabharata Period ? Explain with examples. 3

How has Puranic Hinduism contributed to the development of

Vaishnavism and Shaivism ? Explain. 3
(a) “Panchayats played a crucial role in the Mughal rural society.”
Justify the statement with suitable arguments. 3
OR
(b)  “Many forest-dwelling communities maintained a significant level

of political independence.” Examine the statement in the context of

Mughal empire. 3

Analyse the role of Jotedars in the Permanent Settlement system. 3

How has Indian imagery preserved Rani Laxmibai’s contribution during
the Revolt of 1857 ? Explain. 3

Imagine you are creating a project on Mirabai’s life. How would you

explain the emotions of devotion in her poetry ? 3
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T T
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TRt |TTSy St ATl SR AiEa(deh! 1 THE T a1l § ? T
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@) TSI T USRI e HEqUl AT | §EhT ATEqehRaTT shl hia-H foRisdd 36
HEU] Hi%ahcieh TS STl & 2 T8 ShiST | 8

30. (F) A T A H S o ARTEHI hi R qXE qHE o fog fafie |

AT & | TH Y hl =ATIETT 3T | 8
STeaT

@) “1930 H 7o AT § "Tefisit 1 Aqea forfesr sftafrafirs vmem & faeg wfodre
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(b)

(a)

(b)

(a)

(b)
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SECTION C

(Long-Answer Type Questions) 3Ix8=24

How do the archaeological discoveries at Harappa explain urban

planning of the Indus Valley Civilization ? Explain with examples.
OR

How have the roles and methodologies of archaeologists
contributed to the understanding of Harappan Civilization over

time ? Explain with examples.

The Virupaksha Temple is a historic temple located in Hampi.
What features make it a key architectural and cultural landmark

of the Vijayanagara Empire ? Explain.
OR

The Royal Centre in Vijayanagara was significant. Which
architectural features make it an important cultural landmark ?

Explain.

“Various sources are essential for a complete understanding of
Gandhiji’s contributions in the Indian National Movement.” Justify

the statement.
OR

“Gandhiji’s leadership in the ‘Salt March’ of 1930 became a symbol

of resistance against British colonial rule.” Justify the statement.
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feLER)

(TTA-SATETHRE T9) 3Ix4=12

31. U E I eamgEe ufey I 396 A fau 1T J i & I T ; 1+1+2=4
uTeferys ot gt

ST T ST AT 3T T | 33T o AR T, UTSAY T forehrer qTefotsr™ =1 o6
Toh i & g | iR afereff wet S,  wrer et F ST Tt TS § gl 3
SRt H AT B (e foram AT gwreht 1 sreet foam | =ieft wraredl §.9, doh A1d-3A1d 78
o ST St TSI 3R U % g9y oI T H U Uk 59 T | 918 § SHeRT 7
Y B TRT 3R e =T It 39 @i arde el S, § JET AT a5 39 I8 TR el
ST THAT TR 30 0T &1 ol STTEET off &9 off |

(31.1) USTTE ¥ UTefeAqS W TGO % WY HHST W U TeF IHE Hl T
I |

(31.2) Yo HIT UTEFAYA o oI H T HRT ST =Tel T ?

(31.3) Y HIHTSY o 3icere H it sht T siferent off ?

32. TRUITH I AMYE TfGT SN gk A fIT ¢ Je1 % I T 1+1+2=4
TR hTET
TYad: F-I THATT UHT STARTEshR © ST TSTehid shi@HT ohl shirguneft 1 foqa
foreor yeH AT 2

F3 TIHT T oS Hef fe@ms 2d & 52 s 3o freusit it e #ed 2 |
U el T HEIETRR Toh UL o (HRI&T0T H S%ddl § shRd {&d & | Uk 31 H 39
IR 1 3@ §; feX #, fomepr; =Y #, Yo W w1 0 @ AT ; e §
3%, TR, ISf q9T S[d S dTel; B H =W, S q91 HEH FHd T HM HH
RICTHR U FREM! H & ST GoI§ AT & S&T o Y e FHRR ©d §; 3R A
ATH-3A9H T I 9d 7 | 367 Fivery fafua & 9 9 an itqar s g5 #iS oft
Sftem ot 3 ferfoal # gar 0 &1 99% 121 © (e a8 et g ot |

(32.1) SR T TaoT Tt |IHTST § HRGMI o ST e hi FH ST & ? 1

(32.2) FREHI H T1ed TTeT ATHTST 3h1 |G foforerdT i ¥ a911d & ? 1
(32.3) TS WIHTSH SN IHeh HRIAT o sTa Heel 1 forgetyor AT | 2
61/7/1 Page 20 of 27

&




X e KX

SECTION D
(Source-Based Questions) 3x4=12
31. Read the given source carefully and answer the questions that
follow : 1+1+2=4

The History of Pataliputra

Each city had a history of its own. Pataliputra, for instance, began as a
village known as Pataligrama. Then, in the fifth century BCE, the
Magadhan rulers decided to shift their capital from Rajagaha to this
settlement and renamed it. By the fourth century BCE, it was the capital
of the Mauryan Empire and one of the largest cities in Asia.
Subsequently, its importance apparently declined. When the Chinese
pilgrim Xuan Zang visited the city in the seventh century CE, he found it
in ruins, and with a very small population.

(31.1) Examine the main impact of the shift from Rajagaha to
Pataliputra, on the Magadhan empire. 1

(31.2) What message did Xuan Zang wish to convey about Pataliputra ? 1

(31.3) What role did Pataliputra play in the history of the Magadhan
empire ? 2

32. Read the given source carefully and answer the questions that
follow : 1+1+2=4

The imperial karkhanas

Bernier is perhaps the only historian who provides a detailed account of
the working of the imperial karkhanas or workshops:

Large halls are seen at many places, called karkhanas or workshops for
the artisans. In one hall, embroiderers are busily employed,
superintended by a master. In another, you see the goldsmiths; in a third,
painters; in a fourth, varnishers in lacquer-work; in a fifth, joiners,
turners, tailors and shoe-makers; in a sixth, manufacturers of silk,
brocade and fine muslins ...

The artisans come every morning to their karkhanas where they remain
employed the whole day; and in the evening return to their homes. In this
quiet regular manner, their time glides away; no one aspiring for any
improvement in the condition of life wherein he happens to be born.

(32.1) How did Bernier’s description reflect the economic significance of

the karkhanas in the Mughal empire ? 1
(32.2) How did the crafts in the karkhanas reflect the cultural diversity
of the Mughal empire ? 1
(32.3) Analyse the relationship between the Mughal empire and its
artisans. 2
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33. fauwuwE =l emgEes ufey It 3w A fou 1Ty & I I : 1+1+2=4

T Toh TG S OIS T TATOHT T §¢ 3T Ifet Hered foram & | Wi ot ©wy
T 1T & | 3ehT Tod BT ST TORTST BT T ST 2.1 5 T J ward
ST |1 © T 1S TURTST SArhaitres | & i W qU 3ideTe 36 q2d 1 @ieft € foh
B ARk HEATT o 2 U&TeR & | TTTiareh & foh SR e oiieha & | Tloha &
FH e I el | AL TR HHT SN, IeehT JeFel-GL el BT, T8 U STehT HEel 8 ?
3T o TR 3 GIAT AT TR Srerawd st fivmet 2 ot S @ sga an
QYT ST T o <0 € | T I gk &1 Hohdll & foh AT 378 T T Aiehaifieh o
T 8 A1 T S el 37 SAlhaall hl ST AL ST g Sqet1 gt | F smm
LT € fob fopell s SAlendifies Q37 sl Ueh @ skl YoMTett 1 fordll der
for ot & fidh Tehcet ot ATl 2 € | 2w & o B SHd SR %9 W 4 | TR,
forelt oft Txa #, 5w =t S =T SRR ST, 9% gER SR ok T % TR 3R
STeh! TR S BT T1RT | B9 Alshas & & | © | I8 36 He ol o ST ¢ foh 38
AR, QUIGH Tlehaal ol E&d SHET BT | e 39 1 shl 9 ekl § JETU 56 T
T EH “ATehdiIoh” 68 ol SEAHTCT & fohdT & ifeh &5 o7l foh I8 af TamTfash & &
fop RS w1 F w1 ¥e8 Tew & Tfed B @ | gafag  srTew o st
1SGT BT JRINT &1 AT =Ted & | €A I1eaT o SUNT 0TS & el sarer e fean @ | o
T9 TEAT H ek 3h e TEqd ol & | Sfceh SAlehda shl 8 a1, AT Alehaat hl
A T 1 & | 3T ST I 39 1 T AT &1 Gohel! & FoF 39 &1 § &
WA oh! Tk GHTSIATE! TS S ST ot 1 el fohaT 8 | T&T T shael Sa-T & ST
2 for & TrwTSraTe 1 wmele § 3R et TR 2 6 U fo v off wnrsiee o vay g
HIT LT A Uk GHISETET TS ST TITOHT o W 9L =il ST q3 9 foram & o o

Tt ot g =t <ol wm o =@ B |
(33.1) 9T hl TUST o &Y H YRATNG 3 U Alhditieh IMET i Sl FreT
firem 1
(33.2) 3Tk Alhds I TS o ST H "TNSR GHHT bl hd sigraT =T 2 1
(33.3) STATELATA J&& AR H Wlehaal hl TR o H HITET @wr Al sfiret s
Y <@ ? 2
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Read the given source carefully and answer the questions that

follow : 1+1+2=4

We say that it is our firm and solemn resolve to have an independent
sovereign republic. India is bound to be sovereign, it is bound to be
independent and it is bound to be a republic ... Now, some friends have
raised the question: “Why have you not put in the word ‘democratic’
here ?” Well, I told them that it is conceivable, of course, that a republic
may not be democratic but the whole of our past is witness to this fact
that we stand for democratic institutions. Obviously we are aiming at
democracy and nothing less than a democracy. What form of democracy,
what shape it might take is another matter. The democracies of the
present day, many of them in Europe and elsewhere, have played a great
part in the world’s progress. Yet it may be doubtful if those democracies
may not have to change their shape somewhat before long if they have to
remain completely democratic. We are not going just to copy, I hope, a
certain democratic procedure or an institution of a so-called democratic
country. We may improve upon it. In any event whatever system of
government we may establish here must fit in with the temper of our
people and be acceptable to them. We stand for democracy. It will be for
this House to determine what shape to give to that democracy, the fullest
democracy, I hope. The House will notice that in this Resolution,
although we have not used the word “democratic” because we thought it
is obvious that the word “republic” contains that word and we did not
want to use unnecessary words and redundant words, but we have done
something much more than using the word. We have given the content of
democracy in this Resolution and not only the content of democracy but
the content, if I may say so, of economic democracy in this Resolution.
Others might take objection to this Resolution on the ground that we
have not said that it should be a Socialist State. Well, I stand for
Socialism and, I hope, India will stand for Socialism and that India will
go towards the constitution of a Socialist State and I do believe that the
whole world will have to go that way.

61/7/1

(33.1) How did defining India as a ‘republic’ enhance democratic

governance ? 1

(33.2) How does economic democracy promote social equality within a
republican framework ? 1

(33.3) How did Jawaharlal Nehru view the role of the Constituent
Assembly in shaping democracy in India ? 2
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(ATATI-STTeTiE T97) 3+2=5

34. (34.1) WRA o fQ U TS WET-wHRE (758 27 W) ¥, frefafad i swge e
T sifor iforg 3 37 19 faRaw - 3x1=3
(i) ST — T AT s S
(i) A — T forehford ggwT g

(i) (F) AT — TS AHST F e &
T

(Gii) (@) TR — fosETR g $ TSy

(34.2) WA & TH THITdeh WT-AHRE W & TUHET A 3R B, &l 9RAT TS
eI ¥ TeTord sl o &9 7 iferd foram T ® | 3h! qe=TiT 3R 3%
TET AT 3ok fehe Ti=h 715 el w fafaw | 2

ie : ARG 94 Shecl greaTiad aierfofal & Uy, 4. 34 F T W s

(34.1) 370 & fereal a1 Ta9El o1 9 faIfay | 2

(34.2) (%) II 9RA § TS HIHTSH o Tefi TRl Toh TSA&T ot 10 TsC | 1
HAAAT

(34.2) (@) fooTR ATETST % forell Tk Tt <37 ST A8 SdT3T | 1

(34.3) 1857 % farsie o forwel a1 H&d ol o AW ferfay | 2
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SECTION E
(Map-Based Questions) 3+2=5

34. (34.1) On the given political outline map of India (on page 27), locate
and label the following with appropriate symbols : 3x1=3

(i) Bodh Gaya — An ancient Buddhist site
(i1) Lothal — A mature Harappan site

(iii) (a) Goa — Territory under Mughal Empire

OR
(iii) (b) Vijayanagara — Capital of Vijayanagara empire

(34.2) On the same outline map of India, two places have been marked
as A and B, the centres of the Indian National Movement.
Identify them and write their correct names on the lines drawn
near them. 2

Note :The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention any two pillar inscriptions of Ashoka. 2

(34.2) (a) Name any one territory under the Mughal empire in

Northern India. 1
OR
(34.2) (b) Name any one neighbouring state of the Vijayanagara
empire. 1
(34.3) Name any two main centres of the Revolt of 1857. 2
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